M U LTI B R ACKET S

®

| -
i 1
| g
| g
| g
°| g
i
g 9 o,
| 0
| g
¥ g
¢ g
g o .
| g
| g

Lo | o
N

0 Wl -
i

M Motorized Floorstand 80 kg White

© ¢lad @l o ouag
@ Gulvstativ

@ Bodenstander

® Emdamédia faon

® Floor Stand

® Soporte de suelo

© Lattiateline

© Socle au sol

® Supporto da terra

® Gulvstativ

® Podstawa na podtoge
® HanonbHaga noacrtaBka
® Golvstativ

® Zemin Sehpasi

® % it 52

www.multibrackets.com



lab
Al L 3 8 30a] oA 18 5la el S in ol gn KA J impad Sle o S LD S LB LS B
R L A e e P P L

a3 13 e AT 21 Jas

e 5 il o il 8 i Sl ga Ge L ja ol el pe U

VIGTIGT!

Din plasmaskaerm, LCD-skaerm, tv, projektor, projektorskaerm eller andet HiFi-udstyr
repraesenterer en betydelig vaerdi.

Hvis der medfolger skruer, passer de muligvis ikke til materialet i vaeggen, loftet eller
gulvet.

Udskift skruerne med passende skruer, hvis det er nedvendigt.

Hvis du er i tvivl om noget i forbindelse med monteringen af produktet, skal du kontakte
en ekspert.

ACHTUNG!

lhr Plasma-, LCD-, TV-Gerat, lhr Projektor, lhre Leinwand oder sonstige HiFi-Ausriistung
stellt einen betrachtlichen Wert dar.

Die maglicherweise im Lieferumfang enthaltenen Schrauben sind unter Umstanden nicht
fiir das Material ihrer Wande, Decken oder Boden geeignet.

Ersetzen Sie sie bei Bedarf durch geeignete Schrauben

Wenn Sie bezlglich der Montage des Produkts unsicher sind, wenden Sie sich an einen
Fachman

ZHMANTIKO!

Ol TnAeopaoeig Plasma, LCD, ol kavovikeg TNAECPACTEIS, oI 080veS TTPOBOAEWY I} GAAES
guokeuég HiFi éxouv pia afloonpeiwm agia

Av epiAapBavovTal Bideg iowg va punv eival KATAANAES yia TO UAIKG TOU ToiXou, Tou
Tafaviol r Tou TaTWHATag 0ag.

AvTikataooTe Tig Bideg pe kaTAANAES av gival atrapaitnTo.

ZTnv TEPITTTWAN TTou eV EiTTE giyoupol yia KATTOIEG {NTAHATA OXETIKA PE TNV
TIPOTAPTNAN AUTOU TOU TTPOIOVTOG, TTapaKaAoUpE oupBoukeuTeite évav £181KO.

IMPORTANT!

Your Plasma, LCD, TV, Projector, Projector Screen or other HiFi equipment represents a
considerable value.

If screws are included they may not be suitable for the material of your wall, ceiling or
floor

Replace the screws with suitable ones if needed.

In case you are unsure regarding any aspects of the mounting of this product please
Consult a professional.

IMPORTANTE

Los equipos de plasma o LCD, los televisores, proyectores y pantallas de proyeccion,
asi como otros equipos de alta fidelidad suponen una inversién considerable.

Si incluyen tornillos, puede que no sean adecuados para el material del que estén
formados la pared, el techo o el suelo.

Sustituya estos tornillos por otros mas adecuados si es preciso.

Si no esta seguro sobre cualquier aspecto del montaje de este producto, consulte a un
profesional.

TARKEAA!

Plasma- tai nestekidenayttdjen, televisioiden, projektorien ja niiden valkokankaiden seké
muiden hifi-laitteiden arvo on huomattava.

Laitteen mukana toimitettavat ruuvit eivat valttamatta sovellu seinien, katon tai lattian
materiaaliin.

Korvaa ne tarvittaessa sopivilla ruuveilla.

Mikali olet epavarma mista tahansa tdman tuotteen kiinnittamiseen liittyvasta seikasta,
ota yhteys asiantuntijaan.

IMPORTANT!

Vos écrans plasma, LCD, télévisions, projecteurs, écrans de projection ou autre matériel
Hi Fi ont une valeur considérable.

Les vis fournies peuvent ne pas étre compatibles a la nature de vos murs, plafonds et
sols.

Remplacez-les par des vis adaptées.

Si vous avez des doutes quant au montage de ce produit, veuillez consulter un profes-
sionnel.

%)

IMPORTANTE!

| vostri plasma, LCD, TV, proiettori, schermi di proiezione o altri apparecchi Hi-Fi rap-
presentano un notevole investimento.

Le viti in dotazione potrebbero rivelarsi non adatte per il materiale della parete, del sof-
fitto o del pavimento.

Sostituitele quindi con viti pill idonee in caso di necessita.

Nel caso riscontriate problemi nel montaggio di questo prodotto, consultate un tecnico
specializzato.

VIKTIG!

Din plasma, LCD, TV, projektor, projektorskjerm eller annet HiFi-utstyr har betydelig
verdi.

Hvis skruer felger med, er det ikke sikkert at de passer til materialet i veggen, taket eller
gulvet.

Bytt skruene i skruer som er egnet om nedvendig.

Hvis du er usikker nar det gjelder montering av dette produktet, ma du kontakte en
profesjonell.

UWAGA!

Monitor plazmowy, LCD, telewizor, projektor, ekran projekcyjny lub inny sprzet HiFi
stanowi znaczng wartosc.

Jesli dotaczono do niego $ruby mocujace, moga one nie byé odpowiednie do materiatu,
z ktorego wykonane sg dane $ciany, sufit lub podloga.

W razie potrzeby nalezy je zastgpic odpowiednimi $rubami.

W razie jakichkolwiek watpliwosci dotyczacych montowania tego urzadzenia nalezy
zasiegnac porady u specjalisty.

BHUMAHME!

Kakum Bb1 0BopygosaHuem HiFi Bol HY none3osanuce, Byae To nnasmenHsid, XK unu
CTaHAAPTHbIA TENEBU3OP, MPOEKTOP UMK NPOEKLWOHHDBIA 3KPaH, - BCE OHW NPEACTaBNAT
3HaYUTENbHYI0 UEHHOCTb.

He Bcerna kpennenus, NpunaraemMele B KOMNNEKTE, NOAXOAAT K MaTepuany BalKx CTEH,
noTonka unu nona.

Mpu HeOBX0AMMOCTH 3ameHnTe ux Ha Bonee nogxogawme.

Ecnu Y Bac ecto Kakve-nubo COMHEHWA OTHOCUTENEHO TOro, Kak KpenuTe ﬂaHHblﬁ
NPOAYKT, NOXaNYACTa, NPOKOHCYNLTUPYIATECH Y KBANUMULMPOBAHHOTO CneuranucTa.

VIKTIGT!

Din plasmaskarm, LCD-skarm, TV, projektor, projektorskarm eller annan HiFi-utrustning
representerar ett ansenligt varde.

Om skruvar medfoljer utrustningen &r det inte sakert att de passar for materialet i vag-
gen, taket eller golvet!

Byt ut skruvarna mot lampliga skruvar om sa kravs.

Kontakta en expert om du ar osaker pa nagot i samband med monteringen av produk-
ten.

ONEMLI!

Plazma, LCD, TV, Projektor, Projektor Ekraniniz veya diger HiFi cihaziniz son derece
degerlidir.

Birlikte verilen vidalar duvar, tavan veya doseme teghizatiniza uygun olmayabilir.
Gerektiginde vidalar uygun olanlarla degistirin.

Bu Griindin monte sekilleri ile ilgili sorunlariniz olmasi halinde bir uzmandan yardim alin.

BEERTR!

EHEEF. LCD. TV, BEN. REMRESHT HF @8 SEETEONE.
MBEHHERET | SN THETESENEE, KEERB,

MERE , HHRTERHBLHTE,

WRNAFRRENEITAEARR  FEATLAR.

www.multibrackets.com



- i
u ﬂ
1
A (1x) B (1x) C (1x) D (2x) K (1% SW 6
M8x16 8 M5x6
Q) i
) = 7
E (4x) F (4x) G (4x%) H (8x) | (4x) J (4%)
2
< %
B (2x) C (2x) E (1x)
a M10x25 | b M8x20 | C mex18 |d 8 |e 6 f M8x16
| ® i 5
(4%) (4%) (4x) (6x) (4x) (2%)

8 M8
&
(8x) K (4x)
OO0
SW 12 Phillips head sw g

8

I
N R |

www.multibrackets.com




e
1.( * G
.
2
CLICK

www.multibrackets.com



NS

1. Hang the Wall mount on the Mobile stand.

2. Tighten the screws.

VESA < 900 x 800

N O

VESA

350-900

..............

ggggggggggggggggggg

1000 / 1200 x 800

VESA =

www.multibrackets.com



1. Check mains voltage. The mains voltage should correspond
to the one specified on the rating plate located on the left side
of the frame.

2. Plug the enclosed mains cable into the power socket (B) on
the left side of the wall mount frame.

3. Plug the other end of the mains cable in the grounded outlet.

4. Connect the remote control to the socket (A) on the frame.

5. To raise the wall mount press the button & (UP), to lower the
wall mount press the button W(DOWN) on the remote control.

Lifting function does not work >> Folowing steps should be taken:

1. Check the power cord for any possible damage.

2. Make sure the power cord is properly into the socket (B).

3. Check the fuse in the main socket. If it fails replace the fuse with the same type as the original (1,6 A).
4. Check the connection between the remote control and wall mount socket (A).

www.multibrackets.com




